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(1) FEEAEESFEEE @ i
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53 Fra o @ #\-w 3 & iEfe @ 40 gt 1
(1) dwRimT$iaa
(2) §. wiemg
(3) Fum .
(4) F2IH

T = i rporga 1 2l sy wer Ed § 7
(1) wufEss

(2) H=FA

(3) IIHAHZ

(4) AeFA

55, et def AR T
(1) dfremam
(2) TEEEM
(3) wTgEEm
(4) daThanld

54,

2
56, ﬁndﬁaﬁﬁﬁfﬁﬁﬂawmm

(1) BF,

(2) NF,

(3) ClO,

(4) H‘,('}
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-2/PART -2
/ SCIENCE AND MATH

51. Which property of the virus suggest that it is
abiotic ?
(1) Because it can reproduce
(2) Because crystalization of virus is
" possible
(3) Because it can cause disease

(4) Because it has genetic material

52. Nostoc presence in farm land can contribute in
(1) Carbondioxide cycle

A2) Nitrogen cycle
(3) Walercycle

(4) Phosphorus cycle

53.  Which one of the following is neither a
Prokaryote nor an Eukaryote 7
(1) Saccharomyces
(2) E. Coli
(3) TM.V.

‘Sj-) Nostoc

54. In which condition both the arms of chromosome
are same ?
(1) Acrocentric
(2) Telocentric
(3) Submetacentric
[4) Metacentric

§5. Which is Suicide Bag ?
(1) Mesosome
(2) Ribosome
£3) Lysosome
(4) Centrosome

56. Amongst the following compounds, the
compound having zero dipole moment is

) BF,
) NF, *g . 2
(3) ClO, « rta
-
MH'.'D 9% 01- N F
| PT.O.




57, WO FHIH S srEd wn E ff e 6
T §O 5 A 1 A Wil a1 ae
&

(1) Na<Mg<Be<Si<P
(2) Na<Si<Be<Mg<P
(3) P<Si<Be<Mg<Na
(4) Si<Be<Mg<P<Nuy

58. wIerHfuEe i = e saaE

(1) PAN (2) (1) 3t 4 amn
) wEaFT () NO MW

e e e dh e wmo wd & 7
(1) o & o 8§ egrsew H swafow e @
(2) R e § flT (CH,) 1 sreafirs o 3
(3) I & it d werozEm 6 s o A

(4) 9 F e A Areem A swafus g A

59,

= o @ frm aifufrn § wam afus w1 6
TR B ?

(1) Ca*— Ca™ + le-

(2) K"= K"+ le

(3) C*>SC»"+le

(4) Na— Na'+ le

arg & fre # v foz B | a2 faew 1 mid e
w14, 0 o7 =1 sman

(1) wead

(2) A € TE @

(3) vEe wea &, frr wea B

61.

(4) @@ g
62. U Az e @
(1) 10" adt (2y 107 fodt
(3) 107 &t (4) 10 findt
63, Iufra i 1 Frega Al # A g wfafia
FAIR 7
(1) arfragm (2) @reeHtet
(3) wEEA (4) TEZEIA
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57. Considering their atomic num ers and the i
position in the perodic table, the correct urder
of increasing metallic character 1s
.t wov W
(1) Na<Mg<Be<Si<P P e
(2) Na<Si<Be<Mg</l W
“ P <Si<Be<Mg<Na we Tpe
M i g @

(4) Si<Bec<Mg<P<Na

58. The chiefl constituent of photochemical smog 1
() PAN 121 Both (1)and (4)
(3) None ol these (4) NO, gas
59. Methacmoglobinacmia discase is caused by
(1) High concentration ol nirites in drinking
waler
(2) High concentration of CH, (methane) in

< dninking water

High concentration of fluorides indrinking
walcer

High concentration of nitrates in drinking
water

(E]]

60. Which of the following reactions will need

maximum amount of energy ? o
AT) Cas = Ca + le o
(2) K-=K"+le w, O
(3) C*S3C"+ le
j}] Na — Na* + le
61. There is a hole in a copper disc, il the disc is
heated, the size of the hole
(1) Decreases
(2) Remains the same
(3) First increases. then decreases
‘)j] Increases
_ _ -9
62.  One nanometre is equivalent 1o ‘o ™V
0° 2 1 -
:;: G om ([4} :g o oiﬁw
‘em 4) 'mm 9 d "
o wR
63. Which device converts thermal encrgy into _‘\w
electrical energy 7 \o

i2) Volimeter
4)

(1) Thermocouple

(3)Photocell

Hydrometer
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e R
(1) U TR Ry (2) U wifieha b
(3) sftamy (4) e ifih

‘1 a7 ) Iufeufa wraem fafire asm g R

(1) faset@= (2) SAtfEa=ia =
(3) FEEAEHG R (4) SOETE

wreaht g foz g sifemat aw arg &fed @ 39
Y2 g@ A i o
(1) wfge

(3) Tl (4)

ATVETTE e &
(1) ufes
(3) A (4)

.a.
ﬁ%’ﬂ ﬁmﬂ{&' vlm
Ewﬁ{ﬂfwwampm

aran & fed v, aun V;ﬂmwmm

(1) e wred &1 30
(2) TqoTreR AT

(3) e AT

(4) wHETL WA
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Which of the following is non-conscervative

force 7

(1) Graviational lorce
(2) Viscous force

(3) Inter-atomic force
(4) Electrostatic force

65.  Roaring of lion has

A high intensity and low pitch
(2) both high intensity and high pitch
(3) both low intensity and low pitch
(4) low intensity and high pitch

66. According to animal classification, which of the
following group of animals is correct ?
7 Euplectella, Spongilla, Sycon
(2) Octopus, Starfish, Jellyfish
(3) Hirudinaria, Unio, Antedon
(4) Nereis, Earthworm, Starfish

67. Amoebais a

(1) unicellular plant (2) unicellular protist
(3) bacterium 4 unicellular animal

68. Presence of ‘Canal System’ is the
characteristic feature of phylum
(1) Coelenterata (2) Platehelminthes
_/LB’ Echinodermata (4) Porifera

69. Long bones with air cavities and lungs with air
sacs are the features of class

(1) Repiilia (2) Aves

\_{)";}/Mnmma]ia (4) Amphibia
70. Beneficial insect 1s

(1) Aphid (2) Apis

(3) Culex NG e Gandhi bug

71. A car covers the first half of a certain distance
with aspeed v, and the second half with a speed
v,. The average speed (v) of v, and v, during
the whole journey will be
(1) Half of harmonic mean
(2) Geometric mean
(3) Harmonic mean

(:i)/&rilhmctic mean

vy Vo _



72, T FA-T A R P W AR s st
YR E TR 7
(1) 40°

(3) 100°

(2) —40°
4) o

ﬁnﬁrﬁaﬁﬁmmmﬂmﬁﬁﬁmmt?
(1) ==

(2) shiarfy

(3) wifes

(4) W W TRTaameE

o -auer aE @

(1) wfF=

(2) faga wro A vfFr =
3) Fai=

(4) Rgaamnw

73.

74.

75. e fe roar = ¥ 9w o 3o a g /8
(i E 7w B sowr: g & aen et o =1
wefifa = &)

(1) ¥=aB (2) E @B 2Hi
(3) AMEMMAAB 4) FE

76. ¥UANEURY (ELISA) &1 & fagra &
(1) formmm famm
(2) mads fiFm
(3) wEeA-gudEid) g
(4) wego fomam

77. AT AT T
(1) lac (2) tp
(3) alu (4) cry

78. P % frm whiem § atigdien & srawEm A8 8 7
(1) w=mgiferfem o
(2) oA i a1 H
(3) st ya|= |
(4) W wIe A

79. %a% g fas e @ 7
(1) wwdfera (2) ot
(3) wEIal (4) FEFTA
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72.

74.

75.

76.

A3

77.

78.

79.

Al which temperawure Celsius and Fahrenpg),
measurement is equal ?

(1) 40° A2) —40°

(3) 100° (4) 0"

Which of the following is used in refngeration ?
(1) Chlorine
27 Freon
(3) Phosphine
(4) Sulfur dioxide

Ampere-hour is an unit of
(1) Power
(2) Strength of electric current
(3) Energy
y Quantity of electricity

The field around direct current carrying
conductor is/are (where E and B are respectively
represent electric field and magnetic field)

(1) OnlyB «+2) BothEand B

(3) NeitherEnorB (4) Only E &
Working principle of ELISA is

(h
(2)

Amplification process
Magnification process
Antigen-antibody interaction

(4) Phagocytic process

Code of Bt 1oxin gene is
(1) lac (2}

‘I_/3} alu (4)

In which of the following process oxygen is not
required ?

(1) Glycolysis

(2) Electron transport system

(3) Aerobic respiration

(4) Photosynthesis

trp
Ty

Mpycorrhiza is example of
Amensalism
Mutualism

(2) Antibiosis

q-.l/ﬁum:nl.ﬁz 5

(3)
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R0,

B1.

82.

83,

Which one of the following is responsible for
demitrification ?
(1) Pseudomonas and Thiobacillus
(2} Anabaena and Nostoc
(3) Rhizobium and Nostoc
ﬁy Rhizobium and Azotobacter

Which one of the following mirrors is being
used in headlights of vehicles ?
AT concave mirror Z
(2) plane mirror -
(3) none of these
(4) convex mirror

The resistivity of a material is found 1o decrease

with an increase in temperature. The material is
AT Silicon (2) Nichrome

(3) Silver (4) Constantan

Which one of the following graph represents
acccleration (a) vs Time (1) of an object moving
under free fall ?
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84, 1FA i
{ ]T T{;ij E";E} AT 2 84. KB (Kilobyte) s equal to
ATgs s
2) 1020 9% & (1) 1000 byles
N (2) 1020 bytes
(3) lolo=mse &
@) 1024 e ¥ (3) 1010 bytes
- {4r 1024 bytes
85, Frafefea § & Fah |
@ S sfiwas g R 7 85,  Which of the following has the highest
(1) -t g frequency 7 ‘{
(2) v fawol (1) Ultra-violet light .
(3)  7av f 21 X-rays uv
(3) Infra-red rays
(4) e
o (4) Visible light
86. ughr demretar % TESCT
RN foFm wm & demEm " sify wra 86. “Belladona™ medicine is obtained from which
() wEd part of Atropa Belladona ™!
2) o e & ) from root
3) :ﬁﬂl ;i ‘H‘lﬂ“ a (2) from leaves and root
{;“ A i (3) from all the parts of plants
(4) from stem
87. 11
:ﬁ LUl 87. Jute is obtained by
2) U’F-'l (1) Pinus
[;j 2 (2) Darura
(;1] 33 g A3 Corchorus Capsularis
(4) Solanum
88. w¢ () v we 88. Cotton is obtained from
(1) w3fara (1) Rauwolfia
(2) ElT few R (2) Glycine max
(3) kg erear @ (3 Oryza sativa
(4) T8 (4) Gossypium
§9. ﬂ?ﬂﬂﬁﬂ.gﬁ‘l # qug gran @ 89. Incompositae family the flower is
(1) SR (1) Epigynous
(2) uftsmarft (2) Perigynous
(3) 34 & = T (3) None of these
(4) AT J41 Hypogynous
00. Fr wTeA A @ 90. Cocaine is obtained from
(1) H;?W R \_H")/A.!rapu plant
(2) shyramsem 9 A (2) Ervthroxylum plant
(1) i e | (3) Poppy plant
(4) #F=famdid A (4) Cannabis plant
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LV . . T
. Four chambered heart o, lound in

(1) Repule and bird
(2)  Amphibian and reptile
(33 Mammal trom fishes

A Bird and mammal

92.  Which of the following order of the class

mammalia is completely aquatic
(1) Cetacca
(2) Rodentia

AT Ungulata

(4) Curmivora

93.  Nails, claws, hoofs and horns are developed
from
T Dermis (2) Bone
(3) Cartiluge (4) Emdermis

94.  Which of the following Vitamins is mainly

responsible for blood coagulation in human
being ?

M Vitamin K

(2) VitwnmnC

(3) Vitamin A

(4) Vitmmn E

95. The anmimals with digging or burrowing habits
shows the following type of adaptations
(1) Cursonial adaplation

A2} Fossorial adaptation
(3) Volant adaptation

(4) Scansorial adaptation

96. Which of the following 1s not the ore of Tron
(1) limonite (2) hematite
_t/.}) petalite (4) magnetite

Which one of the following alloy is not properly
matched with regard to its composition ?

97.

Alloy Composition
(1) Gunmetal - Copper. Tin and Zinc
(2) Nichrome — Nickel, Iron and Chromium
«t3) Solder ~ Lead and Zinc
(4) Brass - Copper and Zinc

(PTO
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100,

101.

102.

103.

98.

facs b a g -ar dita frdefiaan sifsdasn o
aun varfy wraifaan s (qow) am k7
CH,
CH, -~ C -0l
CH,

()

(2) CHCHCHCHE O

OH

Wy - e -enon

CH,

e O #Yq -\ s g B o7
(1) Ml‘ff*m (2) eréhrw wom
(3) whfes sna (4) fafze s

ufera bamggm % S 2 sifvfn & fem P d @
whafEanfram = wh 7= om

(1) RF > RBr>RC| > RI

(2) RCl = RBr>RF>RI

(3) RI>RBr>RCl>RF

(4) RF > RCl > RBr > RI

N. O, P a1 S # faga-wowersm & 7 fa o
4 ag ¥

(1) S<P<N<O
(3) P<N<O<S

wara Faa 3 Fifau | -
(1) amgwves 4 9fea ST=E T
: wn-mw:imrﬁr@mﬁtr
(2) Frzamal F FAETA ITEM A J2 WET IqE F
fFm
(3) e & 221 ufae 713 (TEL) 2ren 7 8 il
areAt A Fraaa = M arg g 3 379E #

aF |
(4) seetra i % fem 3t i gEm: SO, 7
NO, 2 |

(2) P<S<N<O
(4) N<O<P<S

XeF,d, Xe ¥ 8% 2
(1) sp'd
(3) sp'd’

(2) sp
(4) dsp’
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98, Which ol the folliwang compound gives (e

ﬁo

100.

—

102.

103.

miost stable carbonun jon during dehydiaog,

reachian iy
I
| [ Ha = ‘3
(h iy ¢ Ol [
' n
Cl, 1
s g
’ m I "“‘1'}"" ¥

(2) CHOICHeon tn o

() ClH, - CH-Cl - O
tlJlI

(4 CH, -~ - CILOH My = C =M
Ci,

The acid found in tamarind is
(1) Ascorbic Aad (2] Tartanc Acid
(1) Acelic Acid (4) Cine Acid

The order of reactivitics ol the Tollowing
alkylhalides for S, 2 reaction iy
(1) RF = RBr > RCI| > RI

(2) RCI>RBr=RF > RI

(3) RI>RBr>RCI> RIF {SW W,
(4) RF > RCI > RBr > Rl t"@ "

The electronegativity of N, O, P and S increases

in the order

(1) S<P<N<O ) P<S<N<O

() PeN<O<«S (d4) N<cQecP<es

Point out the incorrect statement

(1) Orzone layer in atmosphere protects us [rom
harmful UV radiations.

(2} The incessant use of insecticides has caused
soil pollution.

(3) Tetra Ethyl Lead (TEL) is added 1o gasoline
so that the gases coming out of vehicles
may not cause air-pollution

(4) The gases responsible for acid ran are
mainly SO, and NO .

Ye

The hybridization of Xe in XeF, 15

(1) spd 5p’
{3, spldl [.1) d!an

Oy, = O

(!

f
e o -
Y - v.@!"v b l
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(4. PrETITER 7 ¥ Ry gam i
AR FR TR -
Li. Mg, Be, C
(1Y Mg<Be<Lie(C
2} C<Mg<Li<Be
(3 Be<Li<Mg <
(4 Li<Mg<Beer
(05, = vl & s oy 8
COOH
Br .
2N X
@ FeBr,
CH,
i
COOH C -Br
Br
CH, CH,
COOH COOH
l_;J l-“ @Br
CH.-Br CH,
106. TR ¥ F12 T TTe A FEndl €
(1) TFEmEeat 2) Eﬁﬁﬁ
(3) ®ftwew (4)
107, w7 =1 yaue 2 Jufedd 2
(1) wferes ¥ Aftem |
(2) e ¥ e Tierd
(3) "
(4) s ¥ Aggen
108, ¥ =1 79 WA 2 i i
(1) I=AE o gl
(3) A (&)
e
109, Freafeige & = A A S
FreA R 7
7y sfEd w=l
(1) e e
(4) 74
(3) %%
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104, What is the correct order of increasing
clectronegativity for the following elements ?
Li, Mg, Be, C
(1) Mg<Be<Li<C,
(2) C<Mg<Li<BeX
(3) Be<Li<Mg<C
A4 Li<Mg<Be<C_

105.  The product ‘X" in the following reaction

COOH
_Bn L wxis
FeBr,
CH,

|
OOH 2 -Br
) pf@
Br
CH, CH

OOH COOH
3 (4) [i:rﬂ’
CH,-Br CH,

106. The rearing of silk worm is known as
(1) Aquaculture (2) Apiculture
3} Sericulture (4) Horticulture

107. Respiratory centre of the body is present in
the
(13 Cerebellum of the brain
(2) Cerebral hemisphere of the brain
(3) Spinal cord
4] Medulla of the brain

108. Loop of Henle is concerned with
) Excretion (2) Respiration
(3) Digestion (4) Reproduction

109. Which of the following is called ‘Blood bank’
of human body ?
7 Spleen (2) Bone marrow
(3) Kidney (4) Hean

| P.T.O.



2k

110. Wit oy Frgyen v & F=fers =9, 79 &

i 1 Iufteg B &
(1) fasizta
(2) tfifer=
(3) amgidre
(4) 9k
lllo qﬁz'=3’=6"ﬁ.f‘h—l+l+lﬂmﬁhﬂ
X vy =z
a 1 1
3 @ %
(3 1 (4) 0
112. 3R 2 wemsii w1 v 328 | af @ sensi s
afwa 6 R, @ 379 st § w4t 1 AvrEs B
(1) 624 (2) 430
(3) 576 (4) 804
113. f m fa 8 vw g & vfor uF aqds ABCD
wiar mn §, @@ AB + CD foae & o gom 7
(1) 2AD+ BC (2) AD+2BC
(3) 2(AD + BC) (4) AD+BC
114. sin® — cosd 1 firean o= ®
(1) V2 (2) |
3 Y3+ ) 2
2
115, 21 vy et dam 1 25 fodi o 3w # 1 e
14 wrre 3R f2 s, A & ol e 6 e
R wm e 7
(1) 18f= (2) 15fA
(3) 12%= 4) 21f=
Paper — I/D
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110. Polyp and Medusa are the alternative body
forms present in the animals of kingdom
i1y Coelenterata
(2) Annehda
A3 Arthropoda |
2y (e -i— -L l
(4) Porifcra -%.‘_/lz l '.
| 1] '
11, 1122 =3 =6 then the valuc of —=+—=+-= |
Xy z |
|
| My -
iy I (2) |
3 6 |
J3 4) 0 -
|
.'
112, If product of two numbers be 32. If the average
of these numbers is 6, then sum of the cube of
these numbers will be atv ¢
—
(1) 624 (2) 430 2
U576 (4) 864 b=
b -1
In the given figure a circle is circumscribed in
guadrilateral ABCD, then AB + CD will be |
equal to ok E;F-\ﬂj
¢p=RCYr KD vy
5 Q - \’\ b i
%
Al PR=AC |
A P 1
B |
(1) 2AD +BC (2) AD+2BC '
(3) 2AAD+BC) 47" AD + BC '
114.  The maximum value of sin® - cosO is &
(V2 _2) | b~
) Y3+l @ 2 |
2 |
115. 21 workers can construct any wall in 25 days. '
If 14 more workers arc deployed. then in how !
many days they will complete the whole work ?
(1) 18 days 27 15 days |
(3) 12days (4) 2l days |
54 Q\ X&s” —_@\"r \H)‘xOL :
" o A XLz 3 X '
—_—
35 s i'd
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7. Eﬁﬁiﬂilsinx+4cou+3¢rmmt

(D 2543 ) 2J5-3
(3 V543 4) 25

118. Eqﬁﬁﬁﬁahﬁﬁ“‘%mhmm%
T 5 7 0 3 et o g e s o &
(1 150° 2) 75°
(3) 120° @) 60°

119. o 0% 3 uF 0D F wwm smum am qum
R R |95 o S o iy o s o s &
(1) 1:2 (2) 4:1
(3) J3:1 @ 2:1

120, %,g,%,%mwma
(1) % (2) %
(3) % () 2—[7

121, gf? af gl x-’-px+54=n€ha=:unm@
Z:J%Wﬁﬁl,?ﬁpﬂﬂﬁg

\’1_ e uab?p_hﬁ'\
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116.

1.

118,

119.

121.

2

I.. _,.;-'h...t"--g

CALn-2m—C =0

At B)-2 (ML) =0 .3 D
(&e) (=)=
The sum of real roots of the equation
X+|x|-6=0is
(1 0 2T -
3) 5 (4) 4
. P
Maximum value of the expression \ x>
2 sinx + 4 cosx + 3 is :,.‘!:( »\ v
7>
(1) 2J5+3 @) 245-3 B K@’)-"’}
O 543 @ 25 (NS
The chord of a circle is equal 1o its radius. The
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124. In a simultaneous throw of two coins, the
probability of not getting a *head’ is M

NI @ 1 TH-
4 3
Ty
3 L @ 3
2 4
125, If0<n< I, then which one of the following is
not true ? LIPT
[ 1
‘gl},hlu}n|m (2] .]_< ] 59 (q
nl0 100
(3) n'®> 4) n'<|

126. The ratio of areas of the incircle and circumeirele
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129, To construct a quadrilateral at least how many
independent informations are required 7
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132, 1f the difference of radius of 1wo concentric
circles is 2 and the distance between their
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1s 8, then the radius of the bigger circle is
(7 M
{3) 4 (4) o
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If in the adjacent figure PA, PB arc tangents of
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I'he area of largest triangle that can be inscribed
in a semi-circle of radius 3 cm is

(I 18em’ (2) 27cm’ ,
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141. A person prints the price of his article to 30% more
than its cost price and gives 30% discount to its
printed price. His profit/loss percentage is
(1) Profit 9% iy -
2T Loss 9% (-4 .
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147, What will be the values of pand q, when
pr’+x - 2x - 15 exuctly divisible by
cAx =1 and (x 4 1)?
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148. The employer decreases the number of his
employees in the ratio 10 : 9 and increases their
wages in the ratio 11 12, then what is the ratio
ol his two expenditure ?
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a+b+c= 14, then what will be the value of
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150. In the given figure O is the centre of the circle
and ZAOB = 607, then value of ZAEB will be
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